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Abstract. In the paper we consider the distributions of random variables

θ =
1

θ1
+

∞�
n=2

(−1)n−1

θ1(θ1 + 1) . . . θn−1(θn−1 + 1)θn
,

where (θn) is a sequence of random variables taking the values of positive integers to form a homoge-
neous Markov chain. Consider the Markov chain with initial probability (p1, p2, . . . , pn, . . . ) and with
transition matrix ‖pik‖. We study Lebesgue structure of this distribution, topological, metric and
fractal properties of the spectra of distribution (a minimal closed support of distribution).
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(−1)n−1

a1(a1 + 1) . . . an−1(an−1 + 1)an
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a1a2...ak(0).
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β1(x) =
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pj , βk(x) =

{∑∞
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{θ < x} = {θ1 > a1(x)} ∪ {θ1 = a1(x) ∧ θ2 < a2(x)} ∪ . . .

∪ {θ1 = a1(x) ∧ θ2 = a2(x) ∧ · · · ∧ θ2k−2 = a2k−2(x) ∧ θ2k−1 > a2k−1(x)}
∪ {θ1 = a1(x) ∧ θ2 = a2(x) ∧ · · · ∧ θ2k−1 = a2k−1(x) ∧ θ2k < a2k(x)} ∪ . . .

�
P{θ1 = a1(x), . . . , θk−1 = ak−1(x), θk > ak(x)}

= P{θ1 = a1(x)} . . . P{θk−1 = ak−1(x) | θk−2 = ak−2(x)}
× P{θk > ak(x) | θk−1 = ak−1(x)}

= pa1(x)
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pai(x)ai+1(x) ·
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= P{θ1 = a1(x)} . . . P{θk−1 = ak−1(x) | θk−2 = ak−2(x)}
× P{θk < ak(x) | θk−1 = ak−1(x)}

= pa1(x)
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i=1

pai(x)ai+1(x) ·
ak(x)−1∑

j=1
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pa1(x)j + . . .
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pai(x)ai+1(x)

∞∑
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pa2k−2(x)j
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pai(x)ai+1(x)

a2k(x)−1∑
j=1

pa2k−1(x)j + . . . .
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� �� ������ ������	 �


 �	���
�����

 �� ��	����! ���� " pτς=0� �� Fθ(x) �
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 ���� � ����� x0 ����� ������� F ′θ(x0) ������� �������	� Fθ(x0)� �� ����
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F ′θ(x0) = paj(x0)

∞∏
k=1

[
ak(x0)

(
ak(x0) · pak(x0)ak+1(x0) + 1

)]
. ���

%��������! ����	��� ���� ������� F ′θ(x0) ���
�� ��

F ′θ(x0) = lim
k→∞

P
{
θ ∈ Δ�L

a1(x0)...ak(x0)

}
∣∣∣Δ�L

a1(x0)...ak(x0)

∣∣∣ ,
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P
{
θ ∈ Δ�L

a1(x0)...ak(x0)

}
= pa1(x0)

k∏
j=1

paj(x0)aj+1(x0),

� ∣∣∣Δ�L
a1(x0)...ak(x0)

∣∣∣ =
k∏

j=1

1
aj(x0)(aj(x0) + 1)

.
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F (x) = α1Fd(x) + (1− α1)Fc(x) �.�

= α1Fd(x) + α2Fac(x) + α3Fs(x), �%�
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αi ≥ 0� α1+α2+α3 = 1� 0 ≤ α1 ≤ 1� Fd(x)�������	
� �
�
���� �	�������� Fc(x)�
��
������
�� Fac(x)� ������	
� 
�������
�� Fs(x)� ��
�����
� 
�
���� ����������
�����
�
	� 
�
���� ����������
�� 
� � ���
��	�! �"� � �#� 
�����$	%�� ���������	
� ��
�	��

� ���	��� 

��

�
���� F & ���
��	% �"� �����	��$ ����	 ������	
�� 	� 
�������
�� �����
�
	� � ����

��	% �#� � ����	 ������	
��� ������	
� 
�������
�� 	� ��
�����
�� �����
�
	�
'�� �%���� ���� ���
 � ���
���$
	�� αi �����
�$ 1 �� �	 �� �
(� �����
��	% 0��

	� �������� 
�����$	%�� )��	�� � ���� 
��	� ��� 	���� �� 1 � ��������
� )��	� ����
���	
�!� )��	� 
�������
�!� )��	� ������	
� 
�������
�!� )��	� ��
�����
�!� *
�������� ����  ���
 � ���
���$
	�� 
� �����
�$ 1� �������� 
�����$	%�� ����((�
	�+ ����������� ��� ���+ ���
���$
	� �����

� ��� 0� ,������� ��-� 0 < α1 < 1� 	�
�������� 
�����$	%�� ����((� ������	
��� � 
�������
����

������� ��	� �	�
 ��� �������� ���
��� ‖pik‖ � 
�������� ��
 ������� �



��
��� �����	
�
� �������� θ � ����
 ���	
����� � ������ ��
�
� � 	
 �
��
������
� ��
!
�
 
����� ���� �	
�
 �

����� ����
�����" �
���	
��" "�
��
�
����

�
	
���#

.� �	�
 pjj = 1 ��� ���$ j ∈ N� �
 �
�	
��" ���	�
 � ��
 ��
� �
�
	 ����

Δ�L
(j)%

/� �	�
 pjk = 1 ��� ���$ j ∈ N �� ���	
�
 ��	�
���
�
 k ∈ N� �
 �
�	
��"

���	�
 � ��
 ��
� �
�
	 ���� Δ�L
j(k)%

0� �	�
 pj(j+k) = 1 ��� ���$ j ∈ N �� ���	
�
 ��	�
���
�
 k ∈ N� �
 �
�	
��"

���	�
 � ��
 ��
� �
�
	 ���� Δ�L
j[j+k][j+k][j+2k][j+2k][j+3k]... &

'
�������& 1�� ������

� 	���� �

� ����	% ������	�� -� ��� ���%������ 
�	��
���%
��� )���� j ����
�$	%�� ���
��	%

P{θ ∈ Δj} =
∑

x∈Dθ∩Δj

P{θ = x}. �2�

3�+�! j � �����%
� 
�	����%
� )����� ,� ����� .�.

P{θ ∈ Δ�L
j } = pj .

4� ���� ��� �������5 pjj = 1 ��� pjj �= 1�
6�-� pjj = 1� 	� �� 	������� .�. 	�)�� Δ�L

(j) $ $��
�� �	���� ��������� ������

����� ����)�
� θ � ����
��� Δ�L
j � ��
 ��$ ���� pj � � �	 �� ���
��	% �2� ����
�$	%���

6�-� pjj �= 1� 	� ��
�$ 	��� 
�	����%
� j1 �= j� -� pjj1 = 1� 4� ���� ��� �������5
pj1j1 = 1 ��� pj1j1 �= 1�
6�-� pj1j1 = 1� 	� 	�)�� � �������)
�� ����� �

�� ���� Δ�L

j(j1) $ �	���� �

����� pj� 7��� ����
�� Δ�L
j ���	�	% $��
�! �	��� ���� ����� pj � 8	 �� ���
��	% �2�

����
�$	%���
6�-� pj1j1 �= 1� 	� ��
�$ 	��� 
�	����%
� j2 �= j1� -� pj1j2 = 1� 9 �
��� �� ����

��� �������5 pj2j2 = 1 ��� pj2j2 �= 1�
:
�����)
�� ��-� �
�!��	%�� 	��� jk� -� �����
�$ jm� m < k� 	���� -� pjkjm = 1�

	� 	�)�� � �������)
�� ����� �

�� $ �	����� ���� ����� �����
�$ pj �
6�-�  	����� k � jk 
� �
�!��	%��� 	� ��
�$ ��������
��	% (jn) 	���� -� pjnjn+1 = 1

��� ���+ n ����)��� jn �= jm ���m < n�� 7��� 	�)��Δ�L
jj1j2...jn... $ �	���� ��������� θ�

���! 
��� �	% Δ�L
j � 9 !��� ����

P
{
θ = Δ�L

jj1j2...jn...

}
= pj

∞∏
n=1

pjnjn+1 = pj .



��������� �	
����� 
 ����������� 
�
	������ �L������
�� ���

� ����� ��	
���� 
�� 	���
�������
������
��� �����

� 	�������

��  ��	���
��� 	�!� ��� pjj = 1 ��� ������� j ������ ��������� � ����� Δ�L
(j) �

����" pj � #�������
∑∞

j=1 pj = 1� �� �����
� ���� ����$ �����	 ����	
"� ���
�%��

&�'��� �����	�( ������ ����������� ��)� � ����� 	��� Δ�L
(j)�

*� +�!� pjk = 1 ��� 	��$ j ∈ N �� ������� ,����	�
��� k ∈ N� �� pkk = 1 � �������
��������� � ����� 	��� Δ�L

j(k) 	����	��
� � ������ pj � #������� ���� 	��$ pj ��� j ∈ N

����	
"� ���
�%�� �� �����	�( ������ ����������� ��)� � ����� ������ 	����
-� +�!� pj(j+k) = 1 ��� 	��$ j ∈ N �� ������� ,����	�
��� k ∈ N� �� ��� '���.

����� m ∈ N � ���� ��� 	����	�� 
�����
� ��	
����

P
{
θ = Δ�L

m[m+k][m+k][m+2k][m+2k][m+3k]...

}
= pm

∞∏
i=m

pi(i+k) = pm.

&��� � ��	
���� ���� 	��$ �������	�$ (��	��
����( ���
�%� 	����	��� !� �����	�(

������ � �
���
�" ����� 	��� Δ�L
j[j+k][j+k][j+2k][j+2k][j+3k]... � �

���������� /	 �������� θ ���� ���� ������ 
�	��� ���� 	 �����%� ����$��
�$
(��	��
����( 
���	 	������ 
����� 0��������� ��!� pik > 0� ��� 	��$ i ∈ N� k ∈ N�
���

pi(i+1) = 1− 1
(i + 1)2

,

�� 	 %���� 	������ �����	�( ������ ��������� '��� ���	������ � $	����	�" �
�.

��
�" L̃.��'����

�� �������	
���� ���1 � ����� x0 = Δ�L
a1a2...an...� �� an = n�

n = 1, 2, . . . � 2���	���

P{θ = x0} =
∞∏

i=1

(
1− 1

(i + 1)2

)
=

∞∏
n=2

(
1− 1

n2

)
> 0,

�������� ���
∑∞

n=2 n−2 �'���������

���� ���� 
��
 ����� ���� m ∈ N� �
 pjj = 1� p[m+i]j = 0 ��� ���� j ≤ m �∏∞
i=1 maxk{p[m+i][m+k]} = 0 ��� ��� k ∈ N� �
 ������� �
��
���� ������
�
� �������

�� θ ��� �������� �� �!���"�� ���������

Fθ(x) = pFd(x) + qFc(x), 
3�

��

p =
m∑

j=1

pj , q = 1− p, Fd(x) =
1
p

∑
xj<x

pj , Fc(x) =
1
q

(Fθ(x)− pFd(x)) .

#
�������	  � �������" 4�'��� ,�
�%�" ��������� 	������	�1 	�����
� θ ���
�
������ � 	������ ��	
���� 
3�� �� Fd(x) 5 �������
� ,�
�%�� ���������� Fc(x) 5

������	
� ,�
�%�� ���������� p 5 �����
� ���� �����	� q = 1− p�
6�� 	���
�

� ���	 ���� ���	��
�� !� pj(k+1) = 0 ��� 	��$ k ∈ N � �������� θ

������ m �����	� � ����7 ����� 	��� xj = Δ�L
(j) � ������ pj 	����	��
�� &���

p =
m∑

j=1

pj, q =
(

1−
m∑

j=1

pj

)
.

&���

Fd(x) =
1
p

∑
xj<x

pj .

����� � %�� ���� *�� ��� 	���� ,�
�%�1 ��������� Fθ(x)� � ���� � ��	
���� 
3�
����� Fc(x) = 1

q (Fθ(x)− pFd(x))� �
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�
 �������� �	�
������ �
�	�	�	 θ � �
�
������ ��� ��������	 �
�

��	�� �
�
����	� ����������
� ‖pik‖ ���
 ���	 �	��� �	���
��	�� �	��� �
�

�
�
���	� � ���
 ���	 ������� �	���
����� � �
�
�
������� ����� �����
���

����	�	 �
������� �	���
��� � �
�
�
���� ������
��	 !�	��
�	 �	��� �	���
�

��	� ���������� �
" �
��
�
 # $� �	��� �
�
�
������ % �
������ $ $� ������ �	��

��
����� �
 �
�
�
������ % �
�
 # $ 

�� ��������	
� ���
����
�� ���������

����� D[L̃, ij] � 	
��

� ����

� �
���� � L̃��������

� ��
� ������
������
��	��
���� 
������ ����

� �
	����� i �� j� �����

D[L̃, ij] =
{

x : x = Δ�L
a1...an..., akak+1 �= ij, ∀k ∈ N

}
.

�
�� �
�
 &���	�


D[L̃, ij] =
{
x : x = Δ�L

a1a2...an..., akak+1 �= ij, ∀k ∈ N

}
" ���
 �
 '������ ����	��� �������� ���	 (
�
�
 

)��
�
��*  �����	� �������! 
��� 
� "���
���� 	
��


 D[L̃, ij]� ����� (a, b) ���
����

� �
������ �������� [0, 1]� #�$�� ������
 �
��
�� Δ�L

c1c2...cm
⊂ (a, b)� %��� �
!�

���&
���� �
��
��� Δ�L
c1c2...cmij 
� 	���
�� ���
�' ����
 	
��


 D[L̃, ij]� (���� ��

��
���

�	 	
��

� D[L̃, ij] � 
��� 
� "���
�)�
 �����	�� "� λ

(
D[L̃, ij]

)
= 0� �� λ � 	��� #���$�� ����� F2k * ��+��
�

� ����

�
��
���� ��
$! 2k� �
!���&
���� ��
� 	���
�� ����
 	
��


 D[L̃, ij]� F0 = (0, 1]�
� 	
��

! F 2(k+1) ��
��
	� ���
���)

F 2(k+1) = F2k \ F2(k+1).

%��� λ(F 2(k+1)) = λ(F2k)− λ(F2(k+1))�

λ(F 2(k+1))
λ(F2k)

= 1− λ(F2(k+1))
λ(F2k)

. ,-.

(���
�
�� "� F2k ⊃ F2(k+1) ⊃ D[L̃, ij] ∀k ∈ N�

D[L̃, ij] =
∞⋂

k=1

F2k = lim
k→∞

F2k.

/ 
�������
���� 	��
 #���$� �����! 	��	�

λ
(
D[L̃, ij]

)
= lim

k→∞
λ(F2k).

%���

λ
(
D[L̃, ij]

)
= lim

k→∞
λ(F2k)

λ(F2(k−1))
· λ(F2(k−1))
λ(Fλ2(k−2))

· . . . · λ(F2)
λ(F0)

=
∞∏

k=1

λ(F2k)
λ(F2(k−1))

.

/ ���
���� ,-. 	��	�

λ
(
D[L̃, ij]

)
=

∞∏
k=1

[
1− λ(F 2k)

λ(F2(k−1))

]
.

(���

�� 
����
��


� ���!��� �����$������ �� 
!�� ���� � �����
 ����� ���
 ����
��$������ ���

∞∑
k=1

λ(F 2k)
λ(F2(k−1))

. ,0.
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�
	������ �L������
�� ���

�������� �	
��� 

�������� λ(F 2k)
λ(F2(k−1))

� ����� Δ�L
c1c2...c2k

� 	��
��� 
� F2k� �����



������

�� c2k = i�
�� c2k �= i�

���� c2k = i�  � Δ�L
c1c2...c2kj ∩D[L̃, ij] = ∅ 


Δ�L
c1c2...c2kj

Δ�L
c1c2...c2k

=
1

j(j + 1)
.

���� c2k �= i�  � intΔ�L
c1c2...c2kij ∩D[L̃, ij] = ∅ 


Δ�L
c1c2...c2kij

Δ�L
c1c2...c2k

=
1

i(i + 1)j(j + 1)
.

!��"

0 <
1

i(i + 1)j(j + 1)
≤ λ(F 2k)

λ(F2(k−1))
≤ 1

j(j + 1)
< 1.

# ��� ��� $%� ���&
'�( )*� 
 λ
(
D[L̃, ij]

)
= 0� �

��'���(��� �� �������� Sθ ������
�" 
������
�+ 
���,��� θ ����
�( )*� ���-
���� 
*
�  �,�� ��* " ++ ."��	
+ ������
�" Fθ�  �& � �
�
���)�� �������� ��������
�� ��
� ��*��������� ������
� 
������
�+ 
���,��� θ�

���� ���� 	������� ��
����
� ���������� ��
����� θ � 
�������� �������

E =
{

x : x = Δ�L
a1a2...ak..., pi > 0 ∀i ∈ N, pakak+1 > 0 ∀k ∈ N

}
.

���������� �� /�������� �� E ⊂ Sθ� ����� Δ�L
a1a2...ak... = x ∈ E� !��


P
{
θ ∈ Δ�L

a1a2...ak

}
= pa1

k−1∏
i=1

paiai+1 > 0

��� ��

�)��'� k ∈ N� � 
��* �
�* �� 	��
���

 
����
�(� �� ��� ��

�)��'� ����-
 ��'� ε 
*�"(  ��� k� ��

Δ�L
a1a2...ak

⊂ (x− ε, x + ε).

!��"

P{θ ∈ (x− ε, x + ε)} ≥ P
{

θ ∈ Δ�L
a1a2...ak

}
> 0,

 �& � x ∈ Sθ 
� � ��� E ⊂ Sθ�
�� /�������� �� Sθ ⊂ E� ����� x ∈ Sθ�  �& �

P{θ ∈ (x − ε, x + ε)} > 0 ��� &"�)-���'� ε > 0. $�0�

/���"* ���� �� 
*�"( k  ���� �� pak−1ak
= 0� �� Δ�L

a1a2...ak... = x� !��


P
{

θ ∈ Δ�L
a1a2...ak

}
= pa1

k−1∏
i=1

paiai+1 = 0.

�����

 �
� 
������1

$�� 
*�"( ε > 0  ���� �� (x− ε, x + ε) ⊂ Δ�L
a1a2...ak

2

$�� (x− ε, x + ε) �⊂ Δ�L
a1a2...ak

��� ��

�)��'� ε > 0�
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�
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� ������� 	
���
�

P{θ ∈ (x− ε, x + ε)} ≤ P
{

θ ∈ Δ�L
a1a2...ak

}
= 0,

�� �������
�� �����
� ������� 	
���
� x � �������������� ����
���� ���
�� ����
�
 Sθ� ���


��
������� ��!�" � 	������������ #��  ���� ��
� ε > 0$ �� (x − ε, x) ⊂ Δ�L
a1a2...ak

 P{θ ∈ (x, x + ε)} = 0� % 	 &���� 	
���
�

P{θ ∈ (x− ε, x + ε)} = P{θ ∈ (x− ε, x)} ≤ P
{

θ ∈ Δ�L
a1a2...ak

}
= 0,

�� �������
�� ���	 �����
'��
���� �������� ��� ��	��
��$ �� pak−1ak

> 0 ��� ��	 ������ k ∈ N$ ��(��
x ∈ E� '���$ Sθ = E$ �� " 	
�������� ��	���
� �

������� ��	� ���� ����	
� �
�
����	� ����������
� ��� ��	������ ��	� �����

�� ��
��� ��������� �	�������� �
�	�	�	 θ ��� ������� ���� �
�
�� 

!��
�
��� ���� pij = 0� �� ��	
�� � �
��� ��� Sθ ⊂ D[L, ij]� � ���� ��	
�� �

�
��� ��� λ(Sθ) = λ(D[L, ij]) = 0� �

�������� 	
�
 ���� 
�
�
��	 ����	
� �
�
����	� ����������
� ‖pik‖ ������
�"

�
�� ��� ��	�	
� � ���� ����	�� ��	������ ��	� ����� �� �������� �	�������� �
"

�	�	�	 θ � �	�������	� ���������� �������������� �	�� 

�������� 	
�
 ���� ����	
� �
�
����	� ����������
� ‖pik‖ ����	�� ��	������

��	� ���� � ��� ����"���� ������������� (an)� an ∈ N� �	��� ��� ����	� ���#� ��

�������� θ � �	�������	� ���������� �������������� �	�� 

�� ���������	 
�����

��	 �������


������ �
�
 ���� pii > 0� pi(i+1) > 0� ��	���� pii + pi(i+1) = 1 ∀i ∈ N� �� ��
���

��������� �	�������� �
�	�	�	 θ � ��������� $���������# ���%	��#� ����� ����

����������� &������$�'(
�	���	�� ��� ������#� ���# 

!��
�
��� ��
��
��� ��

Sθ ⊂ E =
{
x : x = Δ�L

a1a2...an..., 

 an+1 − an ∈ {0; 1} ∀n ∈ N

}
.

 ��!"
��� �� α0(E) = 0� #�$ %&��� 
�'��& 
��
'��� �� 
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